
Your product - Votre produit Twój produkt - 
 - Su producto - Ürününüz

Batang

FT
A

01
33

3T
 V

er
si

on
 1

 - 
20

15

You will need - Vous aurez besoin de (non fournis) - 
Potrzeba -  - Necesitará - 

01 09

02

03

05

06

08

07

10

11

12

[01] x 1

[02] x 1 [03] x 2

[04] x 1 [05] x 1

[06] x 1 [07] x 1 [08] x 4 (M8 x 30 mm)

[09] x 4 (M8 x 60 mm) [10] x 5 (M6 x 35 mm) [11] x 4 (M6 x 20 mm)

[12] x 8 (Ø16 x Ø8.5 x 1.0 mm) [13] x 8 (Ø13 x Ø8.5 x 2.0 mm)

[14] x 11 (Ø13 x Ø6.5 x 1.0 mm) [15] x 4 [16] x 13

[17] x 1 [18] x 1 (M8)

[01] x 1

[03] x 2

[08] x 4

[12] x 4

[13] x 4

[15] x 4

[18] x 1

[02] x 1

[10] x 5

[11] x 2

[14] x 9

[16] x 7

[17] x 1

[04] x 1

[05] x 1

[06] x 1 [07] x 1

[09] x 4

[11] x 2

[12] x 4

[13] x 4 [14] x 2

[16] x 6

[17] x 1

E

E

E

E1

F

FF

G
G1

G

A

A

A

[03]

[03] [01]

[01]

[15]

[08]
[13]
[12]

[03]

C 

C

C
C

C
C

C

C

B

B

B

[02]

[01]

[14]
[10][16]

[16]

[11]
[14]

[02]

[01]

[02]

[02]

[03] [01]

[01]

[05]
[09]
[16]

[13]
[12]

[01]

[07]

[04] [02]

[05]

[16]

[01]

[11]

[14]

D2

D

D

D

D1

[06]

H

HH1

H

FTA01333T-Blooma-IM-A2-02.indd   1 1/5/16   16:15

[06]



18

19

20

21

22

23

24

26

25

27

28

13

14

31

29

32

33

I
I

I I1

J

J
J1

K

K

K1

L
L

L

K

M

M
M

N1

N N

N

O O

O

O1

P

P

P
P1

Q

Q

Q

Q1

S
S

SS1

T

T

T

R1

R

R
R

15

16

17

30

FTA01333T-Blooma-IM-A2-02.indd   2 1/5/16   16:15



IMPORTANT - RETAIN THIS INFORMATION FOR FUTURE REFERENCE: READ CAREFULLY
IMPORTANT, A CONSERVER POUR DE FUTURS BESOINS DE REFERENCE : A LIRE SOIGNEUSEMENT

EN

EN

Chandlers Ford, Hants,

www.diy.com

FR

C.S. 50101 Templemars

www.castorama.fr

blooma@castorama.fr 

PL

02-255 Warszawa,

www.castorama.pl

RUS

www.castorama.ru

ES

c/ La Selva, 10

www.bricodepot.es

TR

Tel: +90 216 4300300 

Faks: +90 216 4844313

www.koctas.com.tr

EN FR PL ES TRRUS En más detalle…

EN FR PL ES TRRUS …

1

2

3

 >

 >

edilmelidir (ideal olarak bahçedeki bir baraka veya 

 >

1 cloth to clean the surface of the product and to remove 
any stains or mildew.  Wipe dry with a clean cloth.

2 Never use any solvents, scourers, abrasives, bleach, 

3 product.

 >
product are secure, do not use if you have any doubts 

 >

 >

Les règles d’or pour l’entretien

1 Pour nettoyer la surface du produit et retirer toute tache 

2

3 Ne pas utiliser de nettoyeur haute pression sur ce 
produit.

En début de saison
 >
produit sont fermement serrés. En cas de doute, ne 

 >

 >

1

2

3

 >

 >

 >

1 szmatki do czyszczenia powierzchni produktu, w celu 

2

czyszczenia produktu.

3

 >

 >

warunków atmosferycznych (opady deszczu lub niska 
temperatura otoczenia) oraz podczas zimy (najlepiej 

 >
przechowywaniem.

mantenimiento

1

Séquelo con un paño limpio. 

2 Nunca utilice disolventes, estropajos, productos 

disolvente con este producto. 

3 No utilice un limpiador a presión para limpiar este 
producto. 

 >

del producto. 

 >

trastero).

 >Siempre limpie y seque a fondo el producto antes de 
almacenarlo.

For domestic use only.

Periodic structural checks of this product should be 
undertaken, do not use if you have any doubts about its 

Do not sit or stand on the tabletop.

Do not let children play with this product.

This product must be set up by a competent adult.

Faites preuve de prudence lorsque vous ouvrez et fermez 

Positionnez le produit de manière stable sur une surface 
plane. 

Ne vous asseyez pas et ne marchez pas sur la surface du 
plateau.

Ne laissez pas les enfants manipuler ce produit. 

Ce produit doit être monté par un adulte.

A monter soi même.

powierzchni.

Seguridad

Para uso exclusivo doméstico.

los dedos.

plana. 
Se deben llevar a cabo revisiones periódicas de la 

sobre su estado, o su uso. 

mesa. 

Estos muebles debe montarlos un adulto competente.

mekanizmalardan uzak tutun.

r. Montaj 
 ürünün 

r.

FTA01333T-Blooma-IM-A2-02.indd   3 1/5/16   16:15


